T8 MODE T:INK @,B:INC 1,26:80RDER @:0
IN x(8),y(8),2(8),i(8),i(8),5%012) 2
(12):0R1GIN 320,200:ang=P1/16:k8="udr
led’

20 FOR (X271 70 B:READ x(LY),y(12),2(l

TI:MEXT:FOR (I=1 TO 12:READ si(lY), el
(IZ):NEXT:605UB 6@:605u8 5B

50 )S=INKEYS:IF j8=" THEN 38 ELSE a=
INSTRURS,i8):1F a=@ THEN 30 ELSE If a
[e=INT(a/2) THEN dI=1 ELSE diz-1

&8 c=C0S{aXvang):s=SIN(dIoang) : 0N ROU

NDCa/Z) GOSUB TH,BD,90:60508 ¢d:c05UB
S8:607T0 30

58 CLS:FOR LI=1 TO 12:mOVE 10s3(11)),
JESTOLI) D zDRAM FCeX00X)), 700X CLTD)NE

KT:RETURN

60 FOR (321 70 S:iCL%)=aCl)o 000/ C10
=zUIEN) s (LD =y (ALY 2 1009/ CVB-2012)) =N
EXT:RETURN

T8 FOR L=t TO Biy=y(Ll0)zz=2 018Dyl



Jeysp-pagsz{ (L) =gecrynsNEXT:RETURN
B0 FOR LX=7 TO Bexex(lX):izea(l):ally
Yeung-gog:a{(T)=gocenes:REXT :RETURN
90 FOR L%=1 TO Box=uflT)zysyll2):nlll
Jensg=yogsy (LX) eywcouns:NEXT:RETURN
108 ATA -1,1,1,1,1,1,1,-1,1,-1,-1,1,
"}‘;"1,1;1;"",'11-1f'*;-l;"l;Tj.Ir?
r!rii‘l"'ﬂf‘lsr!.ﬂﬁr}J?:if!ri;ir'ﬁ:?r?r
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